= { k =
AKV |J|
G-02

Teqhnik )
E 7 a = S
w B ©
WFL: 13,87 m? —= {0
LN @ zzilﬁ \?/-'3:4311 2
I
C-_
142 -——1 i
H B1.02 @ :FV]FLI'(?GH @$ §>L
| [ - - T >
e || 4O | HED
1 WFL: 10,91 m? %')Osstr' vl’\’;l:a}tzf(;l;mlzift
BELS
\
| ©
‘ \B/\11_00?1nen/Ezssen/Kochen
[ TTITTITT TTTITITITIT B1-10
Abs.t‘[.4 /;:zﬂen
remsee, (D U O
| Wohnung 1
%{
Abstellraum (aulRen) 4,45 m?
Bad 6,72 m?
Flur 6,11 m?
HWR 3,43 m?
Abstellraum 2,29 m?
Schlafen 13,87 m?
Kind/Gast 10,91 m?
Wohnen/Essen/Kochen 29,05 m?
Terrasse 8,17 m?
Vorrat 2.28 m?
Gesamt 87,28 m?
Haus B - Wohnung 1 - Erdgeschoss
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